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1495 1495
o
|
i } 7
B S T }\33
SR
3 Rk (G1, G3, GAHTHI) 32 R D (G247 41)
1485 10 1485 10
o~ Dé <\tl :1 =2 NI
1495 1495
Wr m &
RE| 4 -

al-1= 9.519 X 0.190 +0.020 X 0.470  +0.030 X 0.500
T
+0.020 X 1.695 =  1.8669 m’
HH
al-2=  9.502 X 0.190 +0.020 X 0.470  +0.030 X 0.500

+0.020 X 1.678 = 1.8633 m’
T

a2-1=  9.571 X 0.210 +0.010 X 2.890 +0.010 X 0.410 = 2.0429 m®

Bl
a2—-2=  9.614 X 0.210 +0.010 X 2.890 +0.010 X 0.410 = 2.0519 m®
a3= (0.020 +0.030) X 0.010 X 1/2 = 0.0003 m”

A &

L1=  0.063 X 4 + 0.095 X 2 +(0.190 + 0.410

+ 2.740) X 2 + 0.559 + 1+i2335 + 0.605 = 9.921 m
L2= 9.??1 + 0.210 X 2 = 9.991 m

2 A KOR LA LR



L IV AR A |

G1, G3, (G2) #r4a

-

/v

210 100
| | | |
20. 170 3 10180 10
210 agl (L) ag2 (F@)
| o
g Ao =
] =
20170 3
() NSTEIL. G4 E R T,
Wr |
TV R
agl= 1/4 X 7 X 0.100 X 0.100
AUV AL T IR
ag2= 1/4 X 7 X 0.080 X 0.080
AUV AL TR
ag3= 1/4 X 7 X 0.100 X 0.100
AUV AL T IR
agd= 1/4 X 7 X 0.080 X 0.080
A
AUV kTR
Lgl= 0.100 X + 0.110 X 2
AUV kTR
Lg2= 0.080 X + 0.090 X 2
AUV R
Lg3=
0.100 X
DAYz )
Lgd= 0.080 X

1-1, 27—}

FEHYEIREE o ck = 50N/mm”

JURT P =

GAHTAR

100,

_l\'_
210

10(80.10 ag3 (.t F) agd (FE)

D g=
+0.100 X 0.110
+ 0.080 X 0.090

0.0189 m”

0.0122 m*

0.0079 m*

0.0050 m”

0.534 m

0.431 m

0.314 m

0.251 m



al-1

T

V1= 1.8669 X 0.210
a3
V2= 0.0003 X 9.502
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
ag3
+(0.0079
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 2.932 X 1.80
1-2, B R
L1 ¥y
Al= 9.921 X 0.210
al-2 a2-2
A2=  1.8633 +2.0519
Lgl Lg2
A3= (0.534 +0.431)
Lgl
+(0.534
Lg3
+(0.314
1-3, P C 4l #4

SWPR7BL 1515.2mm

1A YR

BT P ik (kg/m)

al-1

+(1.8669 +2.0429)

X 1/2

ag2

+0.0122)

agd

+0.0050 )

L1

+(9.921

+(0.010

X 1/2
Lg2
+0.431)

Lg4

+0.251)

K

a2-1

X 0.210
X 1/2

X 1/2

L2

+9.991)

+0.014

X 0.210
X 1/2

X 1/2

X 1/2
a2-1

+2.0429

i
X 10
T

X 0.220

X 0.210

X 1/2
L2

+9.991

-0.010)

i
X 10
X 0.220

X 0.210

T

X 0.125

X 1.150

S
X 5
S

&t

XV=

T

X 0.125

X 1.150

X 9.502

S
X 5
S
X b =

&t

X A=

2.986 m’

0.003 m’

-0.057 m®

2.932 m’

5.278 t

14.818 m’

4.048 m*

1.841 m’

20.707 m*



W= 9.559 X 1.101 X 17

= 178.916 kg
1-4, 3 — &
HEREOPCHI LA SWPR19L, 1S21.8mmfH ¢ 35/38
Ay
L= 1.485 X 18 + 1.486 X 3 = 31.188m

1-5, HmSHEBESA

N= 8 ifH

1-6, BY&H
5t
N= 4 {#

1_7’ ﬁ% ﬁ‘%
SD345
R RIELY

(kg)

& =)
D13 442
D19 112

&8 554

T
e

il

1-8, BT
LA 77
R RIERY

D19/ 94 i



27 1_2%%}1&
B @&

9502~9390
(=}
8 | | A al | 1 ;
of T A A &
&) @) U ®)
559 1618~1506 2740 410 b 2740
769 1263~1151 3300 3300
T EH E
11 9390
= 769 1151 3300 3300
g 559 1506 2740 410 2740
= =
o
i ! !
i
ol © n f ‘ ‘ ol o
H= i i i 5 ¥
i | |
i | |
1]
i }
= it =
(G4 ) @2
= 559 1618 60, 2740 410 b 2740
P 769 1263 3300 3300
# 9502




Bl m X

EEEER
10 1470 10
g
8 { =k
1490
X AE6(G1, G3, GA4T4al
10 1470 10
S o= S
1490
Wr |
P
al= 9.446 X 0.190 +0.020
a3= (0.020 +0.030) X 0.010
A
L1= 0.063 X 4 + 0.095
+ 2.740) X 2

“A” li:lll-‘
10
|
g€ } <
~ — i a3
ot |
X = ER (G247 480)
10 1470 10
2g
1490
Ft Ft
X 0.470  +0.030 X 0.500
Ft
+0.020 X 1.622 =
X 1/2 =
X 2 +(0.190  + 0.410
Ft
+ 0.559 + 1.562 + 0.605 =

AE Y FON VAR

1.8516 m*

0.0003 m”

9.848 m



G1,G3, (G2) #ra

210 100
| | l
20170 3 101.80.10
210 agl (Em) ag2 (F@)
\ o
g i =
] =
20170 3
() NTEILL G4 B R T,
Wr |
TV R
agl= 1/4 X 7 X 0.100 X 0.100
DAL i
ag2= 1/4 X 7 X 0.080 X 0.080
AUV AL TR
ag3= 1/4 X 7 X 0.100 X 0.100
DALl
agd= 1/4 X 7 X 0.080 X 0.080
A
AUV kTR
Lgl= 0.100 X + 0.110 X 2
AUV kTR
Lg2= 0.080 X + 0.090 X 2
AUV R
Lg3=
0.100 X
DAYz )
Lgd= 0.080 X

2-1, ar7)—hr

FEHYEIREE o ck = 50N/mm”

GAHT{AI

100,

g
210

10 SO}agS(J:E)agM'FE)
] o z
=4
+0.100 X 0.110 =
+0.080 X 0.090 =

0.0189 m”

0.0122 m*

0.0079 m*

0.0050 m”

0.534 m

0.431 m

0.314 m

0.251 m



al

V1= 1.8516 X 1.470
a3 ¥y
V2= 0.0003 X 9.446
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
ag3
+(0.0079
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 2.671 X 1.80
2-2, T R
L1
Al= 9.848 X 1.470
al
A2= 1.8516 X 2
Lgl Lg2
A3= (0.534 +0.431)
Lgl
+(0.534
Lg3
+(0.314
2-3, P C &l #4

SWPR7BL 1515.2mm

1A YR BT P ik (kg/m)

X 9 =
T
X 1/2 X 0.210 X 10
ag2 & AT
+0.0122) X 1/2 X 0.220 X 5
agd & AT
+0.0050) X 1/2 X 0.210 X 5 =
aRt Zv=
Ty
+(0.010 +0.014 -0.010) X 9.502
X 9 =
T
X 1/2 X 0.210 X 10
Lg2 & AT
+0.431) X 1/2 X 0.220 X 5
Lgd & AT
+0.251) X 1/2 X 0.210 X 5 =
aRt ZA=
N

2.722 m’

0.006 m’

-0.057 m®

2.671 m’

4.808 t

14.477 m?

3.969 m”

1.841 m’

20.287 m’



W= 9.446 X 1.101 X 18 = 187.201 kg

2-4, ¥ — &
HEREOPCHI LA SWPR19L, 1S21.8mmfH ¢ 35/38

T
L= 1.470 X 18 + 1.472 X 3 = 30.876 m

2-5, BB

N= 8 ifH

2-6, MV&H
5t
N= 4 {#

2_7’ ﬁ% ﬁ‘%
SD345
Bt

(kg)

£ =)
D13 393
D19 0

&8 393

IS
e

\7




3, 1-3~1-5YLHEBI R EhK

1990

B M
B
- ‘ ‘ s ] 2 S : g 2 = | o
2 1 a ! g ol i =
o PN TN TR
® o N @ %Lﬂ}y
559 B2 2740 410 2740 410 605
769 B1 3300 3300 870
T &
49 B
=| 769 B1 3300 3300 870
& 559 B2 2740 410 2740 60,410 6 605
! | | :
| | | :
g : | =k
] ," | | | 17
,’ | | !
' | !
i @ @ @ @ i
= 559 B2 6 2740 410 2740 j}ﬂg_éi 605
g 769 B1 3300 3300 870
® B
1-3PrmE | 1-49ah8 | 1-5HEhE
BIREIR | BIRERR | BIRERR
A 9389 9239 9089
B Tl 9240 9090 8940
T 9315 9165 9015
A 1150 1000 850
B1 A& AR 1001 851 701
Sy 1076 926 776
e A 1505 1355 1205
B2 A 1356 1206 1056
T 1431 1281 1131




RERD

1970

U

1990

X R EB (G1, G3HTAN)

1970

1990

Wr m A

bty
al(1-3)=  9.315

ety
al(1-4)=  9.165

Sty
al(1-5)= 9.015

a3=  (0.020

A k
L1(1-3)=  0.063
L1(1-4)=  0.063
L1(1-5)=  0.063

< 0.190

< 0.190

< 0.190

+0.030)

X 4
+ 2.740)
X 4
+ 2.740)
X 4

+ 2.740)

X BB (GAHT{ED
10 10 1970 10
"
=23 5 2re
< Sl
“A” gl}
10 1990
|
s 3 } 4
Aol VX, zmamema
10 < | 10 1970 10
=5 g =
g =
1990
Tty T8y
£0.020 X 0.470  +0.030 0.500
St
+0.020 1.491 = 1.8240 m®
Tty T8y
£0.020 X 0.470  +0.030 0.500
St
+0.020 1.341 = 1.7925 m?
Tty Tty
£0.020 X 0.470  +0.030 0.500
St
+0.020 1191 =  1.7610 m®
X 0.010 X 1/2 = 0.0003 m’
+0.095 X 2 +(0.190 + 0.410
St
X 2+ 0559 + 1.431 0.605 =  9.717m
+0.095 X 2 +(0.190 + 0.410
St
X 2+ 0559 + 1.281 0.605 =  9.567m
+0.095 X 2 +(0.190 + 0.410
St
X 2+ 0559 + 1.131 0.605 =  9.417m

AE Y FON VAR



G1, G3, (G2) #T41 G447l
210 100 100
| | | | |
20170 2 10180110 10 SO}agS(J:E)agM‘FE)
210 agl (L&) ag2 (FE) | 38
O"S
\ o
g o s
y =
20170 2
A O)ASTEIE. TR %2R,
Wr |m &
DAY =]
agl= 1/4 X x X 0.100 X 0.100 +0.100 X 0.110 =
SV
ag2= 1/4 X x X 0.080 X 0.080 +0.080 X 0.090 =
DAY =]
agd= 1/4 X X 0.100 X 0.100 =
SV
agd= 1/4 X X 0.080 X 0.080 =
A
DAy =]
Lgl= 0.100 X x + 0.110 X 2 =
DAY =]
Lg2= 0.080 X x + 0.090 X 2 =
DAY =]
Lg3=
0.100 X 7 _
DAY =]
Lg4= 0.080 X x =

YR E WrmE X

0.0189 m”

0.0122 m*

0.0079 m*

0.0050 m”

0.534 m

0.431 m

0.314 m

0.251 m



Wr m R

ak1(1-3)=

ak1(1-4)=

ak2(1-4)=

ak1(1-5)=

ak2(1-5)=

akl

330_1

—

L

T

0.320

T

0.430
bty
0.440
Sty

0.430

T

0.440

3-1, 2 ZY—h

L ELUERRIE 5 ck = 50N/mm”

&f
T4

w
—
(e)

1-3YENE Y] R Z R

L=500

X 0.010

X 0.010

X 0.010

X 0.010

X 0.010

0 440

L~

420 30

L=550

(0 440

D 410 3

L=550

420 4

L=350

0.0032 m*

0.0043 m”

0.0044 m”*

0.0043 m”

0.0044 m*



al

V1= 1.8240 X 1.970 = 3.593 m’

a3 RS
V2= 0.0003 X 9.315 X 2 = 0.006 m’
TAUVAL agl ag2 T
V3= (0.0189 +0.0122) X 1/2 X 0.210 X 10
agl ag2 [EBIES
+(0.0189 +0.0122) X 1/2 X 0.220 X 5
ag3 agd [EBIES
+(0.0079 +0.0050) X 1/2 X 0.210 X 5 = -0.057 m’
akl
V4= 0.0032 X 0.500 = -0.002 m’

BEF XV= 3.540 m’

PCIRRR AL HVE &
Eﬁﬁ[g%(l/mj)
W= 3.540 X 1.80 = 6.372 t

1-4EME G R Ehi

al

V= 1.7925 X 1.970 = 3531 m
a3 T4y
V2= 0.0003 X 9.165 ) = 0.005 m’
TAULAL agl ag2 BT
V3= (0.0189 +0.0122) X 1/2 X 0.210 X 8
agl ag2 & FTEC
+(0.0189 +0.0122) X 1/2 X 0.220 X 4
ag3 agl & FTEC
+(0.0079  +0.0050) X 1/2 X 0.210 X 4 = -0.045 m’
akl ak2
V4= 0.0043 X 0.550 +0.0044 X 0.550 =  -0.005 m®
&8 ZV= 3.486 m®
PCIRRRIKCH V'E &
Eﬁﬁ[g%(l/mj)
W= 3.486 X 1.80 = 6.275 t

1-5LME G K Ehi

al

V1= 1.7610 X 1.970 = 3.469 m’

a3 B2}

V2= 0.0003 X 9.015 X 2 = 0.005 m®



VUL AL agl ag2 & FTEC

V3= (0.0189 +0.0122) X 1/2 X 0.210 X 8

agl ag2 [EBIES
+(0.0189 +0.0122) X 1/2 X 0.220 X 4
ag3 agd [EBIES
+(0.0079 +0.0050) X 1/2 X 0.210 X 4 = -0.045 m’
akl ak2
V4= 0.0043 X 0.350  +0.0044 X 0.350 = -0.003 m’

BEF XV= 3.426 m’

PCIRhR1AC SV E &
Eﬁﬁ[g%(l/mj)
W= 3.426 X 1.80 = 6.167 t
3-2, Bl
1 =391 B R Z kit
L1
Al= 9.717 X 1.970 = 19.142 m®
al )
A2= 1.8240 X 2 +(0.010 +0.014 -0.010) X 9.315
X 2 = 3.909 m*
Lgl Lg2 [EES
A3=  (0.534 +0.431) X 1/2 X 0.210 X 10
Lgl Lg2 T
+(0.534  +0431) X 1/2 X 0.220 X 5
Lg3 Lgd T
+(0.314 +0.251) X 1/2 X 0.210 X 5 = 1.841 m*
akl 10V°2
A4=  0.0032 +0.014 X 0.500 = 0.010 m*

AEF TA= 24.902 m®

1-4EE G R Ehi

L1

Al=  9.567 X 1.970 = 18.847 m’
al )
A2= 1.7925 X 2 +(0.010 +0.014 -0.010) X 9.165

X 2 = 3.842 m’



Lgl

A3= (0.534

akl

A4= 0.0043

1-54LME G K Ehi

L1

Al= 9.417
al
A2=  1.7610
Lgl
A3=  (0.534
akl
Ad= 0.0043
3-3, P C $ #f

Lg2

+0.431)

Lgl

+(0.534

Lg3

+(0.314

10472
+0.014

X 1.970

Lg2
+0.431)
Lgl
+(0.534

Lg3

+(0.314

10472
+0.014

SWPR7BL 1515.2mm

IEN=RS5ES
W(1-3)=  9.315
W(1-4)=  9.165

BT P ik (kg/m)

X 1.101

X 1.101

X 1/2
Lg2
+0.431)
Lg4

+0.251)

X 0.550

+(0.010

X 1/2
Lg2
+0.431)
Lg4

+0.251)

X 0.350

A
X 24

X 0.210
X 1/2

X 1/2

ak2

+0.0044

+0.014

X 0.210
X 1/2
X 1/2

ak2

+0.0044

[EBE

X 0.220

X 0.210

-0.010)

[EBES

X 0.220

X 0.210

i
X 4
i
X 4

&t

5

X 9.015

X 2

i
X 4
i
X 4

&t

X A=

X A=

1.473 m’

0.016 m”

24.178 m’

18.551 m*

3.774 m®

1.473 m’

0.014 m”

23.812 m’

246.140 kg

242.176 kg



W(1-5)=  9.015

3-4, ¥ — A

X 1.101

X 24

WEREOPCHI LA SWPR19L 1S21.8mmfH ¢ 35/38

1-3hft~ 1-5hf e

T

L= 1.970 X 18 + 1.973 X 3
3-5, BSHE4L& AR
13~ 15} 3LE
N= 8 #H
13~ 15} 3LE
5t 4 A
N= 4 {#
-1, 8% 5
SD345
X EH X LY
(kg)
£ HE
1-3ki 1-4ki 1-5hi
D13 509 536 520
D19 0 0 0
&8 509 536 520

238.212 kg

41.379 m



1990

4, 1-6~1-9JENBRR

Wr m
B
- ‘ ‘ = 9 S | 4 7 S : o
2 _ o | < < 2
? @ @ . @, e F’
B4 B2 2740 90_410 2740 410 605
B3 B1 3300 3300 870
X m|m
149 B
= B3 B1 3300 3300 870
g_, B4 B2 6 2740 90_ 410 2740 410 605
! i | i )
] | 1 |
| | % |
," i |
/ ,' | | |
/[ i | |
= ; | ! ! l =
@ ) @ @
= B4 B2 60, 2740 90_410 2740 60,410 60 605
E B3 B1 3300 3300 870
" B
1-64amE R | 1-749rmE i | 1-84amg i | 1-94AgE il
e Al 8939 8789 8639 8489
B HE A 8790 8640 8490 8340
LY 8865 8715 8565 8415
e U 700 550 400 0
Bl HE A 551 401 0 0
NRS] 626 476 200 0
e U 1055 905 755 605
B2 HE A 906 756 606 410
NRS] 981 831 681 508
e U 769 769 769 0
B3 HE U 769 769 0 0
LY 769 769 385 0
e U 559 559 559 559
B4 HE A 559 559 559 605
LY 559 559 559 582

I




fHl mn

= X AR (GAHTD)
10 1970 10 10 1970 10
e
g (LoE S o2l 2
[13 ”
A" &R
1990 10 1990
|
o § } Z
X B (61, GIHTA) I % 3 BB (G247 {A)
SR
10 1970 10 10 1970 10
2 <o 2 IS S
N —Q—'=‘=§r N ~N =8 N
1990 1990
Wr m &
1y 1y 1y
al(1-6)=  8.865 X 0.190 +0.020 X 0.470  +0.030 X 0.500
4
+0.020 X 1.041 = 1.7295 m*
4 P4 P4
al(1-7)=  8.715 X 0.190 +0.020 X 0.470 +0.030 X 0.500
4
+0.020 X 0.891 = 1.6980 m*
4 P4 P4
al(1-8)=  8.565 X 0.190 +0.020 X 0.470 +0.030 X 0.500
4
+0.020 X 0.741 = 1.6665 m®
4 P4 P4
al(1-9=  8.415 X 0.190 +0.020 X 0.470  +0.030 X 0.500
4
+0.020 X 0.568 = 1.6345 m’
a3=  (0.020 +0.030 ) X 0.010 X 1/2 = 0.0003 m*

A &



L1(1-6)=

L1(1-7)=

L1(1-8)=

L1(1-9)=

0.063

0.063

0.063

0.063

+

+

+

+

ARy FUOXN)LA,
Q1. G3. (G2) #74al

+(0.190
S2e)

+ 0.981

+(0.190
Ty

+ 0.831
+(0.190
Ay
+ 0.681
+(0.190

T

+ 0.508

e[

G4#7481

+

+

+

0.410

0.605

0.410

0.605

0.410

0.605

0.410

0.605

9.267 m

9.117 m

8.967 m

8.817 m



210 100
| | |
| | |
20 170 2 10180 (10
210 agl (L) ag2 (FE&)
| o
g o s
] =
20 170 2
3 O AL G4 E R,
Wr m &
DAY =]
agl= 1/4 X 1 X 0.100 0.100
PV
ag2= 1/4 X 1 X 0.080 0.080
DAY =]
ag3d= 1/4 X 1 X 0.100 0.100
SV
agd= 1/4 X 1 X 0.080 0.080
A &
DAY =]
Lgl= 0.100 X 1 + 0.110 X 2
DAY =]
Lg2= 0.080 X 1 + 0.090 X 2
DA =]
Lg3= 0.100 X 1
DAY =]
Lgd= 0.080 X 1

4-1, a7 —hr

L ELUERRIE 5 ck = 50N/mm”

1-6HEME R

100,
| |
I |
1018010 ag3 (+ ) agd (FE)
o
=
+0.100 X 0.110
+0.080 X 0.090

0.0189 m”

0.0122 m*

0.0079 m”*

0.0050 m”*

0.534 m

0.431 m

0.314 m

0.251 m



al

Vi= 17295 X 1.970
a3 ¥y
V2= 0.0003 X 8.865
AUV agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
ag3
+(0.0079
PCIRRRIMCE 0 E &
Eﬁﬁ[g%(l/mj)
W= 3.367 X 1.80
1=THEME it
al
V1= 1.6980 X 1.970
a3 ¥y
V2= 0.0003 X 8.715
AUV agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
ag3
+(0.0079
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.305 X 1.80
1-8FEME AR
al
V1= 1.6665 X 1.970
a3 5]
V2= 0.0003 X 8.565

X 1/2
ag2
+0.0122)
agd

+0.0050 )

X 1/2
ag2
+0.0122)
agd

+0.0050 )

X 2

X 0.210
X 1/2

X 1/2

X 0.210
X 1/2

X 1/2

[EBES

X
co

X 0.220

X 0.210

[EBES

X 0.220

X 0.210

T
X 4
T
X 4

aRt Zv=

i
X 4
i
X 4

&t

XV=

3.407 m’

0.005 m’

-0.045 m”

3.367 m’

6.061 t

3.345 m’

0.005 m’

-0.045 m”

3.305 m’

5.949 t

3.283 m’

0.005 m’



TAULAL agl ag2

V3= (0.0189 +0.0122)
agl
+(0.0189
ag3
+(0.0079
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.247 X 1.80
1-9FEMR AR
al
V1= 1.6345 X 1.970
a3 ¥y
V2= 0.0003 X 8.415
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.185 X 1.80
4-2, T R
1-6 LR Al
L1
Al= 9.267 X 1.970
al
A2=  1.7295 X 2

X 1/2
ag2
+0.0122)
agd

+0.0050 )

X 1/2
ag2

+0.0122)

+(0.010

X 0.210
X 1/2

X 1/2

X 0.210

X 1/2

+0.014

[EBES

X 0.220

X 0.210

-0.010)

S
X 4
S
X 1 =

&t

XV=

T

X 8.865

-0.041 m®

3.247 m’

5.845 t

3.220 m’

0.005 m’

-0.040 m”

3.185 m’

5.733 t

18.256 m”



Lgl

A3=  (0.534
1=THEBE AR
L1

Al= 9.117
al

A2=  1.6980
Lgl

A3=  (0.534
1-8FEME AR
L1

Al= 8.967
al

A2=  1.6665
Lgl

A3=  (0.534
1-9FEMR AR
L1

Al= 8.817
al

A2=  1.6345

Lg2
+0.431)
Lgl
+(0.534
Lg3

+(0.314

X 1.970

Lg2
+0.431)
Lgl
+(0.534
Lg3

+(0.314

X 1.970

Lg2
+0.431)
Lgl
+(0.534
Lg3

+(0.314

X 1.970

X 1/2
Lg2
+0.431)
Lg4

+0.251)

+(0.010

X 1/2
Lg2
+0.431)
Lg4

+0.251)

+(0.010

X 1/2
Lg2
+0.431)
Lg4

+0.251)

+(0.010

X 0.210
X 1/2

X 1/2

+0.014

X 0.210
X 1/2

X 1/2

+0.014

X 0.210
X 1/2

X 1/2

+0.014

[EBES

X 0.220

X 0.210

-0.010)

[EBES

X 0.220

X 0.210

-0.010)

[EBES

X 0.220

X 0.210

-0.010)

i
X 4
i

AFF A=

Sty
X 8.715

i
X 4
i
X 4 =

EFF A=

Sty
X 8.565

i
X 4
i
X 1

EFF A=

Sty
X 8.415

3.707 m®

1.473 m’

23.436 m’

17.960 m”

3.640 m’

1.473 m’

23.073 m’

17.665 m*

3.573 m®

1.295 m’

22.533 m’

17.369 m”

3.505 m®



Lgl

A3= (0.534

4-3, P C 8 #f

Lg2

+0.431)

Lgl

+(0.534

SWPR7BL 1515.2mm

1AL AR

W(1-6)=  8.865
W({1-7)=  8.715
W(1-8)=  8.565

W(1-9)=  8.415

4-4, v — R

BT P ik (kg/m)

X 1.101

X 1.101

X 1.101

X 1.101

X 1/2
Lg2

+0.431)

A
X 24

X 0.210

X 1/2

HEREOPCHI LA SWPR19L 1S21.8mmfH ¢ 35/38

1-6hi, 1-Thi
Ty
L= 1.970 X 18 + 1.973 X 3
1-8hi
Ty
L= 1.970 X 19 + 1.974 X 9
1-9hK
L= 1.970 X 21
4-5, BIHELE
(1)
1-6) 1-7hK 1-8i 1-9iK
8 8 6 6

i
X 8

X 0.220

AN
=

5]

At

X A=

1.235 m”

22.109 m’

234.249

230.285

226.322

222.358

kg
kg
kg

kg

41.379 m

41.378 m

41.370 m



4-6, BY&HE

1-6iR~ 1-9hR I

5t 4 A
N= 4 {#
-7, 8% B
SD345
R EH X LY
(kg)
, H i
7 —
16k 1-7hi 1-8hit 1-9hi
D13 513 510 476 462
D19 0 0 0 0
&8 513 510 476 462




5, 1-10,1- 118 R EhR,1-12,1-13FEHERR
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8340
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8340
= 870 3300 3300 870
;ﬁ 605 60_410 60 2740 90.410 90 2740 0,410 605
@ @ @
= 605 60_410 60 2740 4]0 2740 60_410 60_ 605
o 870 3300 3300 870
b2 8340
Il /&
s =g 1T4AI
*ﬁgéi%%ﬂ 3'Z,m b (G‘”ﬁ{ﬁ])
10 1970 10 10 1970 10
apn
2 (LLgE : e
< =l
A” t
A
1990 10 1990
|
72 } K
X AR (G1, G3HTAD of 4 2 X = ER (G274
st
10 1970 10 N 10 1970 10
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1990 1990




Wr m R
T T

al= 8.340 X 0.190 +0.020 X 0470 +0.030 X 0.500

T

+0.020 X 0.470 = 1.6184 m®
a3= (0.020 +0.030) X 0.010 X 1/2 = 0.0003 m*
A
L1=  0.063 X 4 + 0.095 X 2 +(0.190 + 0.410
+ 2.740) X 2 + 0.605 + 0.410 + 0.605 = 8.742 m
ARy ROR)LAERE
G1, G3, (G2) #T4al
210 100,
| | | |
20170 3 10/80 10
210 agl (L) ag2 (FE)
| o
g {C)r s
| S
20170 3
3 O) RTEIL G4 E RS,
Wr |
TV R
agl= 1/4 X X 0.100 X 0.100 +0.100 X 0.110 =  0.0189 m*
AUV AL TR
ag2= 1/4 X X 0.080 X 0.080 +0.080 X 0.090 = 0.0122 m*
A
DAYz )
Lgl=  0.100 X + 0.110 X 2 = 0534 m
DAY )
Lg2=  0.080 X + 0.090 X 2 = 0431 m

TR = b &



S S N N Y| bl ]

1-10

470 470 470
akll éﬁz_‘ / a_l_\ \
60_410 / t 410 Lc 410
L=600 L=830 L=600
1-11
470 470 470
akl ak? akl
] ] \
[ !@ 2:\ [ | ”#\ [ | Ot\
60_410 Mu \t 410 90 / 410
L=320 L=100 L=320
Wr |m &
ak1(1-10)=  0.440 X 0.010 = 0.0044 m*
P4
ak2(1-10)=  0.440 X 0.010 = 0.0044 m*
P
ak1(1-11)=  0.440 X 0.010 = 0.0044 m*
P
ak2(1-11)=  0.440 X 0.010 = 0.0044 m*

5-1, 7Y —h

FEHYEIREE o ck = 50N/mm”



1-108) K ik

al

V1= 1.6184 X 1.970
a3
V2= 0.0003 X 8.340
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
VNS akl
V4= 0.0044 X 0.600
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.144 X 1.80
I-119) R EhR
al
V1= 1.6184 X 1.970
a3 B2
V2= 0.0003 X 8.340
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
VNS akl
V4= 0.0044 X 0.320
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.150 X 1.80
1-12,1- 134 e
al
V1= 1.6184 X 1.970

a3

X 1/2

ag2

+0.0122)

X

X 1/2

ag2

+0.0122)

X

2

2

X 0.210
X 1/2

ak2

+0.0044

X 0.210
X 1/2

ak2

+0.0044

iR
X 8

X 0.220

X 0.830

i
X 8

X 0.220

X 0.100

[EBES

[EBE

&t

XV=

3.188 m’

0.005 m’

-0.040 m”

-0.009 m’

3.144 m’

5.659 t

3.188 m’

0.005 m’

-0.040 m”

-0.003 m’

3.150 m’

5.670 t

3.188 m’



V2= 0.0003 X 8.340 X 2 = 0.005 m’

VUV AL agl ag2 & TEC

V3= (0.0189 +0.0122) X 1/2 X 0.210 X 10
agl ag2 & FTEC
+(0.0189 +0.0122) X 1/2 X 0.220 X b = -0.050 m’
&8t XV= 3.143 m®

PCIRRRIKCH V'E &

Eﬁﬁ[g%(l/mj)
W= 3.143 X 1.80 = 5.657 t

5-2, B R

1-108) R Zhix

L1

Al=  8.742 X 1.970 = 17.222 m’



al

A2= 1.6184 X 2
Lgl Lg2
A3=  (0.534 +0.431)
Lgl
+(0.534
akl
A4= 0.0044 X 2
1-1180 K Ehi
L1
Al= 8.742 X 1.970
al
A2= 1.6184 X 2
Lgl Lg2
A3=  (0.534 +0.431)
Lgl
+(0.534
akl
A4= 0.0044 X 2

1-12,1-13FEH#ERR

L1

Al=  8.742 X 1.970
al
A2= 1.6184 X 9
Lgl Lg2
A3=  (0.534  +0.431)
Lgl
+(0.534
5-3, P C &l #f

SWPR7BL 1515.2mm
1-10Afi~1-13hf Sk

1AY Y Fesa
W= 8.340

BT P ik (kg/m)

X 1.101

+(0.010

X 1/2
Lg2

+0.431)

ak2

+0.0044

+(0.010

X 1/2
Lg2

+0.431)

ak2

+0.0044

+(0.010

X 1/2
Lg2

+0.431)

A
X 24

+0.014

X 0.210

X 1/2

+0.014

X 0.210

X 1/2

+0.014

X 0.210

X 1/2

-0.010)

[EBES

X
co

X 0.220

-0.010)

[EBES

X 0.220

-0.010)

i
X 10

X 0.220

X 8.340

X
I\
1

X ®
N
I

aFt ZA=

X 8.340

[EBES

X
S
I

aRt ZA=

X 8.340

S
X 5

aRt ZA=

3.470 m’

1.235 m”

0.013 m’

21.940 m’

17.222 m’

3.470 m’

1.235 m”

0.013 m’

21.940 m’

17.222 m’

3.470 m”

1.544 m’

22.236 m’

220.376 kg



5-4, ¥ — R
fERFOPCHNLVAR SWPRI9L 1S21.8mmMH ¢ 35/38
1-10kR~ 1- 13} $t3
L= 1.970 X 21 = 41370 m
5-5, MSRESE
1-10kR~ 1- 13} $t3

N= 6 fH

5-6, MY&H

1-10AR ~1- 13 8

5t 4 A
N= 4 {#
5-7, 8% 5
SD345
X EH X LY
(kg)
£ g &
1-10kK 1-11K 1-12iK 1-13hK
D13 450 439 426 426
D19 0 0 0 0
&8 450 439 426 426
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Bl m X

AAwy RUONRJLAFFHER

ZAEER (G1, G3#T4AI) ZAEER (G2#T481)
10 1735 10 1735
"
el () 2 S g
395 1250 “A” Ii:lll-g 345 _[1.5( 1250
1745 10 1745
|
23/ |x
XRED (61, G3HFER) | o L p % 5 B (G247 )
o |
10 1735 10 1735
Eng— 2 SES g
1745 1745
Wr |m &
e e
al=  8.340 X 0.190  +0.020 X 0.470  +0.030 X 0.500
e
£0.020 X 0470 =  1.6184 m®
e
a2=  1.075 X 0.210 X 2 +2.890 X 0215 X 2
+0.410 X 0.220 =  1.7844 m®
a3= (0.020  +0.030) X 0.010 X 1/2 = 0.0003 m
s
Ll=  0.063 X 4 + 0.095 x 2 +(0.190 + 0.410
+2.740) X 9 +0.605 + 0.410 + 0.605 =  8.742m
2= 8.340 +0.210 X 9 = 8760 m



Wr m R

PYLAL Bl

agl= 1/4

UV T

agl= 1/4

A &

PYLAL B

Lgl= 0.100

PoYLAL Bl

Lg2=  0.080

6-1, = 7Y —h

Mg - [l -

T W T —

G1, G3, (G2) #7481

210

100

210(220)

_I\'_
210(220)

20170 2

%((_J[g -

20170 2

10(/.80_110

10(.80

210 agl (£ ) ag2 (F&)

& O RTER G2l 2R

X 0.100

X 0.080

+ 0.110

+ 0.090

L ELUERRIE 5 ck = 50N/mm”

al

Ty

X 0.100

X 0.080

X

X

2

2

+0.100

+0.080

X 0.110

X 0.090

Ty

0.0189 m”

0.0122 m*

0.534 m

0.431 m



V= 1.6184 X 0.360
a3
V2= 0.0003 X 8.340
AUV agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
PCIRRIHC S E &
Eﬁﬁ[g%(l/mj)
W= 2.969 X 1.80
6-2, B
L1 B2
Al= 8.742 X 0.360
al a2
A2= 1.6184 +1.7844
Lgl Lg2
A3= (0.534 +0.431)
Lgl
+(0.534
6-3, P C $ #f

SWPR7BL 1515.2mm

1AYY Fesa

BT P ik (kg/m)

+(1.6184 +1.7844)

X 1/2

ag2

+0.0122)

L1

+(18.742

+(0.010

X 1/2
Lg2

+0.431)

K

X 0.210

X 1/2

L2

+8.760 )

+0.014

X 0.210

X 1/2

X 1/2
a2

+1.7844

S
X 12

X 0.220

X 1/2
L2

+8.760

-0.010)

[EBES

X 12

X 0.220

X 0.125

X 1.250

[EBES

X
o
1

aRt Zv=

T
X 0.125
X 1.250 =

X 8.340 =

[EBES

X
o
1

aRt ZA=

3.026 m’

0.003 m’

-0.060 m”

2.969 m’

5.344 t

15.191 m’

3.520 m”

1.853 m’

20.564 m’



W= 8.340 X 1.101 X 20 = 183.647 kg
6-4, v — R

HEREOPCHI LA SWPR19L, 1S21.8mmfH ¢ 35/38

[= 1.735 X 21 = 36.435m

6-5, BITHELE

N= 6 fH

6-6, MY&E
5t F 1
N= 4

6_7’ ﬁ% ﬁ‘%
SD345
Bt

(kg)

A
7 =i

D13 379
D19 95
&8 474

IS
e

6-8, gt
PEIA 2o AR
Gy,

D19/ 80
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1,E\IJ E 5‘( $=1:30
FRHEER (G1, GIHTD FRLEED (G2HT R

1735 10 1735 10

o (= o 1=

il 3 o &

N ng% Si o=l —
ISR~

1 ” ﬁ
1150 100 495 A" &R 1150 50445
1745 10 1745

L |
10 160
190

N,
X R R (G1, GIHTHAI) a3>§

: X ER (G247481)
IS
1735 10 1735 10
1745 1745
Wr |m &
Ty Ty
al= 8.340 X 0.190 +0.020 X 0.460 +0.030 X 0.490
Ty
+0.020 X 0.460 = 1.6177 m*
S2c)
az2= 1.070 X 0.210 X 2 + 2.900 X 0.215 X 2
+0.400 X 0.220 = 1.7844 m*
a3=  (0.020 +0.030) X 0.010 X 1/2 = 0.0003 m*
A
L1= 0.063 X 4 + 0.095 X 2 +(0.190 + 0.400
+ 2.750) X 2 + 0.610 + 0.400 + 0.610 = 8.742 m
L2= 8.340 + 0.210 X 2 = 8.760 m

AA vy ROR)LFLEFHK



Wr m R

UL AL B

agl= 1/4

UV T

ag2= 1/4

A &

UV AL B

Lgl= 0.100

UV AL B

Lg2=  0.080

7-1, 27—k

G1, G3, (G2) #rfal

210 100
| | |
20170 2 10180,
210 agl (L) ag2 (FE)
|/ o
g ACoE =
| =
20170 2
0 O)RSHEE.G2HTRIZ RS,
X 0.100 X 0.100 +0.100
X 0.080 X 0.080 +0.080
+ 0.110 X 2
+ 0.090 X 2

L ELUERRIE 5 ck = 50N/mm”

al

T

X 0.110

X 0.090

T

0.0189 m”

0.0122 m*

0.534 m

0.431 m



Vi= 1.6177 X 0.460
a3
V2= 0.0003 X 8.340
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 2.962 X 1.80
-2, B
L1
Al= 8.742 X 0.460
al a2
A2=  1.6177 + 1.7844
Lgl Lg2
A3= (0.534 +0.431)
Lgl
+(0.534
7-3, P C $ #

SWPR7BL 1515.2mm

1AYY Fesa
W= 8.340

BT P ik (kg/m)

X 1.101

+(1.6177 +1.7844)

X 1/2 X 0.210
ag2

+0.0122) X 1/2

L1 L2
+(8.742 +8.760)

+(0.010 +0.014

X 1/2 X 0.210
Lg2

+0.431) X 1/2

A
X 20

X 1/2
a2

+1.7844

i
X 10

X 0.220

X 1/2
L2

+8.760

-0.010)

i
X 10

X 0.220

[EBES

X
(@)}
1

aRt Zv=

T

X 0.125

X 1.150 =

X 8.340

[EBES

X
1
1

aRt ZA=

3.009 m’

0.003 m’

-0.050 m”

2.962 m’

5.332 t

15.189 m’

3.519 m”

1.544 m®

20.252 m’

183.647 kg



-4, ¥ — &
HEREOPCHI LA SWPR19L, 1S21.8mmfH ¢ 35/38

L= 1.735 X 20 = 34.700 m

7-5, BSHESR

N= 6 fH

-6, MY&E&H

5t 4 A
N= 4 {#
-1, %
SD345
B IRY,
(kg)
£ &
D13 407
D19 95
&8 502
7-8, BT
HHSA A AH
B IRY,

D19 80
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Wr m R

al=

ad3=

A &

L1=

Wr m R

AL ki
agl=

AL
ag2=
A &

UV AL B

Lgl=

UL AL B

Lg2=

8.340

(0.020

0.063

1/4

1/4

0.100

0.080

210(220)

T

+0.020 X 0.460  +0.030
+0.020

X 0.010 X 1/2
+ 0.095 X 2 +(0.190
X 2 + 0.610  + 0.400

Sty
X 0.490
bty

X 0.460

+ 0.400

+ 0.610

AA vy ROR)LFLEFHK

G1, G3, (G2) #rfal

+ 0.090 X 2

YR & i X

210 100
| | |
% % % % ~
20170 7 1018010
210 agl (L) ag2 (FHE)
| /o
g ok =
| =
170 2
¥ O)RSHRIK GHTRIZE R,
X 0.100 X 0.100 +0.100 X 0.110
X 0.080 X 0.080 +0.080 X 0.090
+ 0.110 X 2

1.6177 m*

0.0003 m”

8.742 m

0.0189 m”

0.0122 m*

0.534 m

0.431 m



2-4 2-9

520
ak1
! P
o é@ gt
D0_400 90
L=700
Wr |
T4
akl= 0.460 X 0.020 = 0.0092 m*
8-1, 7Y —h

L ELUERRIE 5 ck = 50N/mm”



2-2FEAERR

al

Vi= 1.6177 X 1.970
a3
V2= 0.0003 X 8.340
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
PCIRRRIMCE 0 E &
Eﬁﬁ[g%(l/mj)
W= 3.142 X 1.80
2-3IEYERR
al
Vi=  1.6177 X 1.970
a3
V2= 0.0003 X 8.340
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.152 X 1.80
2-4G) R ER)
al
Vi= 1.6177 X 1.970
a3
V2= 0.0003 X 8.340

X

X 1/2

ag2

+0.0122)

X 1/2

ag2

+0.0122)

X

2

2

X 0.210

X 1/2

X 0.210

X 1/2

[EBES

X 10

X 0.220

[EBES

X 0.220

T A
X 5 =

aRt ZVv=

S
X 4 =

aRt Zv=

3.187 m’

0.005 m’

-0.050 m”®

3.142 m’

5.656 t

3.187 m’

0.005 m’

-0.040 m”

3.152 m’

5.674 t

3.187 m’

0.005 m’



TAULAL agl

ag2

V3= (0.0189 +0.0122)
agl
+(0.0189
akl
V4= 0.0092 X 0.350
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.149 X 1.80
2-5E) R ER
al
Vi= 1.6177 X 1.970
a3
V2= 0.0003 X 8.340
TAULAL agl ag2
V3= (0.0189 +0.0122)
agl
+(0.0189
akl
V4= 0.0092 X 0.700
PCIRRRIMCE V' E &
Eﬁﬁ[g%(l/mj)
W= 3.136 X 1.80
8-2, T
2- 24T YRR
L1
Al= 8.742 X 1.970
al
A2=  1.6177 X 2

X 1/2
ag2

+0.0122)

X 1/2
ag2

+0.0122)

+(0.010

X 0.210

X 1/2

X 0.210

X 1/2

+0.014

i
X 8

X 0.220

i
X 10

X 0.220

-0.010)

[EBES

&t

[EBES

&t

X 8.340

XV

XV=

-0.040 m”

-0.003 m’

3.149 m’

5.668 t

3.187 m’

0.005 m’

-0.050 m”®

-0.006 m’

3.136 m’

5.645 t

17.222 m’



Lgl

A3= (0.534

2-3FEAERR

L1

Al= 8.742
al
A2=  1.6177
Lgl
A3=  (0.534
2-44) R Zhit
L1
Al= 8.742
al
A2=  1.6177
Lgl
A3=  (0.534
akl
Ad4= 0.0092
2-58) R ER
L1
Al= 8.742
al
A2=  1.6177

Lgl

Lg2
+0.431)
Lgl

+(0.534

X 1.970

Lg2
+0.431)
Lgl

+(0.534

X 1.970

Lg2
+0.431)
Lgl

+(0.534

X 1.970

Lg2

X 1/2 X 0.210
Lg2

+0.431) X 1/2

+(0.010  +0.014

X 1/2 X 0.210
Lg2

+0.431) X 1/2

+(0.010  +0.014

X 1/2 X 0.210
Lg2

+0.431) X 1/2

+(0.010  +0.014

[EBES

X 10

X 0.220

-0.010)

[EBES

X 0.220

-0.010)

-0.010)

[EBES

[EBES

X
1
1

AFF A=

X 8.340

[EBES

X
N
I

AFF A=

X 8.340

X 8.340

3.469 m”

1.544 m’

22.235 m’

17.222 m’

3.469 m”

1.235 m”

21.926 m’

17.222 m’

3.469 m”

1.235 m”

0.009 m”

21.935 m’

17.222 m’

3.469 m”



A3=  (0.534  +0.431) X 1/2
Lgl Lg2
+(0.534  +0.431)
akl
A4= 0.0092
8-3, P C &0 #f

SWPR7BL 1515.2mm

W(2-2)=
W(2-3)=
W(2—-4)=

W(2-5)=

LRSS B BT e/ m) A
8.340 X 1.101 X 24

8.340 X 1.101 X 22

8.340 X 1.101 X 22

8.340 X 1.101 X 24

X 0.210

X 1/2

X 10

X 0.220

S
X 5

ait ZA=

1.544 m’

0.009 m”

22.244 m’

220.376

202.011

202.011

220.376

kg
kg
kg

kg



8-4, v — &
HEREOPCHI LA SWPR19L 1S21.8mmfH ¢ 35/38
2-2hf~2-5ki tLE

L= 1.970 X 20

8-5, MSHEEER
2-2hi~2-5hR ki

N= 6 fH

8-6, MY&R

22 ~2-5hf 3L

5t 4 A
N= 4 {#
8-7, %
SD345
X EH X LY
(kg)
% Flik
2—2hK 2-3hK 2-4hi 2-5hR

D13 415 414 414 415
D19 0 0 0 0
&8 415 414 414 415

39.400 m



3-4.FE R EER B2 L X ¥ ANPCER IR ENR T

T 7 iR

ke JiRFe EER0)
1-1 i Elhi 5.278
1-2 | JriEFFE R 4.808
1-3 | JEmE U] R Zhi 6.372
1-4 | JEmE U] R Zhi 6.275
1-5 | JEmE U] R Zhi 6.167
1-6 PEBERR 6.061
1-7 PEBERR 5.949
1-8 PEBERR 5.845
1-9 PEBERR 5.733
1-10|  YIRZhiR 5.659
1-11[ YRR 5.670
1-12 FEAERR 5.657
1-13 FEAERR 5.657
1-14|  dmiEbhi 5.344
/B Al~P1 80.475
ke JilRFe ER0)
2-1 Uil i 5.332
2-2 FEAERR 5.656
2-3 FEAERR 5.674
2-4 | HIREMKR 5.668
2-5 | BIREhR 5.645
2-6 i Elhi 5.332
/NEF] T P1~A2 33.307
o Al~A2 113.782




3-5. /5 MR B2 L X ¥y ANPCEKR IR R T

T — U BRE

ke JiRFe EER0)
1-1 i Elhi 5.278
1-2 | JriEFFE R 4.808
1-3 | JEmE U] R Zhi 6.372
1-4 | JEmE U] R Zhi 6.275
1-5 | JEmE U] R Zhi 6.167
1-6 PEBERR 6.061
1-7 PEBERR 5.949
1-8 PEBERR 5.845
1-9 PEBERR 5.733
1-10|  YIRZhiR 5.659
1-11[ YRR 5.670
1-12 FEAERR 5.657
1-13 FEAERR 5.657
1-14|  dmiEbhi 5.344
/B Al~P1 80.475
ke JilRFe ER0)
2-1 Uil i 5.332
2-2 FEAERR 5.656
2-3 FEAERR 5.674
2-4 | HIREMKR 5.668
2-5 | BIREhR 5.645
2-6 Uil i 5.332
/NEF] T P1~A2 33.307
o Al~A2 113.782




G

Al-P1¥LTE
Al-P1EEYE

P1-A2fE %

N=8 & fT

N=b f#=

N=b f#

3-6. 75 MR B2 L X vy ANPCEKIRES T

AR TL 30 PC#H4t SWPR19L 1S21. 8mm
¢ 100 % 30 < —Z ¢ 35/38mm
| |
S L7 {7 g
- U
(=) \\ 8é
N —
i A
S 1 I
| |
AR UL §%Wﬁ%»9»
20 x 20 10lolo

HRNEER T 1 i E ()

8977
I g: al \ I : [ >
T O]
@) €3 @ @ )
559 g0 | 1003 0 2740 4]0 5 2740 40410 §0_ 605
769 738 3300 3300 870
ZAERTE ] (A1~P1)
8340
3 SN g 3 = :3
| — e = 2
o ] BE o
h @ @ )
605 60 0 2740 410 2740 40410 60 605
870 3300 3300 870
ZAERTmE X (P1~A2)
8340
o s 4 &~ F A 5 c}
; # a3 I | [ =
I 5 g &
@ @
610 8 0 2750 90 400 9 2750 400 80_ 610
870 3300 3300 870




Wr m R

T

al= 8.977
az2= 8.340
ad= 8.340

1, BINKEENLZIL

(1) B HE8
(A1-P1) al
V1= {1.7531
a2
V2= {1.6184
(P1-A2) a3
V3= {1.6177

X 0.190

X 0.190

X 0.190

F Hiug

X 0.030

F Hug

X 0.030

F Hug

X 0.030

+0.020

+0.020

+0.020

+(0.010

X 1/2

+(0.010

X 1/2

+(0.010

X 1/2

T

X 0.470

T

X 0.470

T

X 0.460

+0.030)

X 8.977}

+0.030)

X 8.340 }

+0.030)

X 8.340 }

+0.030

+0.020

+0.030

+0.020

+0.030

+0.020

T
X 0.500
T

X 1.153

Sty
X 0.500
bty

X 0470 =

Sty
X 0.490
bty

X 0.460

aRt Zv=

1.7531 m*

1.6184 m*

1.6177 m*

0.435 m’

0.251 m’

0.686 m’

0.251 m’

0.937 m’



4, P C 80 #

(1) PCH#ILV#(SWPR19L 1521.8mm)

Al-P1
At A%
L1= 26.750 X 18
L
L2= 26.771 X 3
RATE
iz H i (kg/m)
W= 561.813 X 2.482
P1-A2
BEIE= A%
L1= 11.500 X 20
AT E
iz H i (kg/m)
W= 230.000 X 2.482

PEHVEL= 561.813 +230.000

PEHYEW= 1394.420 +570.860

2) 799k
¢ 3bmm
Al-P1 (m)
hiREL 7 hi gk LhiR24Y ai
1-1 1 31.188 31.188
1-2 1 30.876 30.876
1-3~1-5 3 41.379 124.137
1-6, 1-7 2 41.379 82.758
1-8 1 41.378 41.378
1-9~1-13 5 41.370 206.850
1-14 1 36.435 36.435
14 553.622
P1-A2 (m)
hiREL 7 higk LhiR24Y ai
2-1, 2-6 2 34.700 69.400
2-2~2-5 4 39.400 157.600
6 227.000

PREHVEL= 553.622 +227.000

481.500 m
80.313 m

561.813 m

1394.420 kg

230.000 m

570.860 kg

791.813 m

1965.280 kg

780.622 m



Q) EEH
1E )7 TEABME TR S [ EHR (135X 135X 28) +7 U~
Al-P1 N1= 21 X 2 -3

P1-A2 N2= 20 X 2

E TR EIE 3 FEHR (135X 135X 28~30,35,38) +7 U7

N3= 3

7V R
b 9XT706, d9Xx500

Al-P1
N1= 21 X 2

P1-A2
N2= 20 X 2

5, AR~

PChRIN D 7 (G HT T H R ER)

¢ 19X 150
Al-P1
G4
N1= 189 X 3 + 32
P1-A2
N2= 84 X 3
LTI B IR
Al-P1 G4
N1= 9 X 6 + 3
P1-A2
N2= 12 X 6

A7t ZN=

39

40

79

42

40

82

599

252

851

57

72

129



3-T.EBFHTBR CHRR L

IR T Bt G 3=
T Fl il il i a1l #l ¥ |HA B & i B
%?’z:r 2/))-} T BEATHE | o ck=24N/mm’ | m’ 15. 4
T IR T | — g H=30m m’ 49.0
E D16 SD345 t 0.393
C . D19 SD345 t 0. 656
IR e B & 3 ! t 1.049
% KEH ST Ol I t —




T g 178 M Y F "o K H 1=
1.a/))-+ 1
(24-8-25)
EEAAEIEY)
BGFT HE t =237mm
S1 « S2f& AT 0.237 X 8.340 X 1.075 X 2 4.25 °
LYYt =262mm
S3f& 0.262 X 8.340 X  0.990 2.16 p®
Y t =24Tmm
S4f& 0.247 X 9.654 X 1. 060 2.53 n°
FHE LY — K 0.132 X 13.650 1.80 p°
(P1~A2[)
FHE LY — K 0.132 X 10.740 1.42 p°
(K2~P1[H)
gk 7 y—w | ( 0.132 + 0.223 ) / 2 X 18. 060 3.21 p®
(A1~K2[H)
15.37 o’
2. R T
#Irxhﬂiljm
BGFT HE 18T
S1f& i 0.237 X 1.075 X 2 0.51 p?
JEERR
8.340 X 1.075 8.97 1
EH
0.237 X 8.340 1.98 »
18T
S2f& i 0.237 X 1.075 X 2 0.51 p?
JEERR
8.340 X 1.075 8.97 1
EH
0.237 X 8.340 1.98 »
18T
S3fE T 0.255 X 0.990 0.25 p?
0.275 X 0.990 0.27
JEERR
8.340 X 0.990 8.26 I
Em Pt
0.260 X 8.340 2.17 »
18T
S4fE 7T 0.228 X 1.060 0.24
0.252 X 1.060 0.27
JERR SRV
9.654 X 1.060 10.23 »
Em Pt
0.251 X 9.693 2.43 1
FEEa L Y — K 0.030 X 13.650 X 2 0.82 n?
(P1~A2[)
FEEa L 7 Y — K 0.030 X 10.740 X 2 0.64 p’
(K2~P1[)
LY — K 0.030 X 18.060 0.54 p?
(A1~K2[)
49. 04 p?




3. 8k

0 () e

8700
600 7500 600
3750 3750
PRI 7L b4 t=80m @ BT AR
BWEaLsy—F
W %)& LEVEL tmin=30mm A=0.132 m2
o 2
Ig j 3 5
2Shag
= L2 =
= o —— R — g
! = = =
8340
(s3)w1~p1)
8700
600 7500 600
3750 3750
FHTRT7 L b4 t=80m @ B 5 BRI
KB LEVEL [EEDT U )
E— tmin=30mm A= 0.132 m2
. g
8
8! o
= I“’
S 3 =
8340
$4 )(A1~P1)
10032
602 8830 600
5080 3750
T Z T 7L b t-80m ﬂb BT
| BEaLY ) — b R
tmin=30mm A=0.223 m2
BEAER0. 800} 2
< R
< 2{ ©
8
REEN
=] !
£ = o
@
FYU=0654
BHEER
H D16 980 128 1.56 1.53 196 | ———
Ho D16 890 64 1.56 1.39 8 | ——
Hs D16 960 66 1.56 1.50 9 [—
He D6 970 § 1.56 1.51 9 | ——
393
§ - D19 2300 15 2.25 5.18 8| ——
Si2 | D19 4090 15 225 9.20 138 | ———
ENIE 3480 1 2.25 1.83 86 | ——
Si | D19 4940 2 2.25 111 2 | ——
$1-5 D19 3750 2 2.25 8. 44 17 | —
5 2- D19 8280 12 2.25 18.6 223 | ———
Sa0 | D19 5000 2 225 11.2 2 | ——
Sas | D19 5250 2 2.25 11.8 2 | ——— (T95)
S2-0 | D19 3820 2 225 §.60 1| —
Sa5 | D19 6420 2 2.25 14.4 29 | ——— (TH8)
656

N B4 1 2 B

0.275
0.273
0. 255
0.253
0. 255
TEfE
0. 262

0. 252
0.242
0. 282
0.244
0.236
0.228
TR fE
0.247




3-8.#1 B LT
g THRAEGE
T ff Rl LI BB (B & & B o=
2/))-pT BT HES o ck=24N/mm’* | m’ 21.1
IR T | — s H=30m m’ 101.6
H D13 SD345 t 0. 698
? D19 SD345 t 0. 000
BT | SD345 -
& &t " t 0. 698
KEHERAH OEIA I t —




J

$3-S4R
L
600

A=0.252 m2

M

S| FHH

Jb 80_250

T g 178 N Y F "o K H =
1.a/)p)-p T
(24-8-25)
EEAAEIEY)
S1-S2f] SEHIA=0. 248m2
0.248 X 13.650 X 2 6.77 ’
S3-S4RH]
TRl SEHIA=0. 24Tm2
0.247 X 28.800 7.11 i’
kil SEHIA=0. 252m2
0.252 X 28.800 7.26 in°
21. 14’
2. Hlp T
— A
S1-S2f 18
0.606 X 13.650 X 2 16. 54 ?
JEERR
0.180 X 13.650 X 2 4.91 p?
HE A
0.380 X 13.650 X 2 10. 37 p?
1
( 0.250 + 0.254 )X 2 1. 01 p?
S3-S4 ] 18I
TRl 0.600 X 28.800 X 1 17. 28
JEERR
0.180 X 28.800 X 1 5.18 p?
HE A
0.380 X 28.800 X 1 10. 94 ?
1
0.252 + 0.253 0.51 p?
S3-S4 ] 18
el 0.632 X 28.800 X 1 18. 20
JEERR
0.180 X 28.800 X 1 5.18 p?
HE A
0.380 X 28.800 X 1 10. 94 ?
1
0.294 + 0.256 0.55
s1-s2m g
600 600
g A=0. 248 m2 & A=0.247 m2 101. 61 p?
- g T e _: L | B| e




3. 8k L

S1-S2fd S1-S2fH
A28 1L & #% P14AILE 8O
600 600
2 3
B A=0. 250 m2 N A=0. 254 m2
2R 2
m = 3
L&_ 18
$3-S4FH S3-S4FE
PITRAIESD# P1EREIE O
600 600
3 3
N A=0.253 m2 N A=0. 256 m2
2 ZIN
2 e
— e | —_— —
iJ 8
L 1
S3-S4fH S3-S4fH
Al —F/JIL@].I]'_&)V“ A J‘.un.ﬁ'].l]:&)?"
600 600
3 3
BN A=0. 249 m2 BN A=0. 263 m2
8 8
; = ; <
li 8
BHEER
5 # & & A B 2 fi B 2| -KLVEE E B B E
G- D13 7350 8 0.995 7.31 58 | ——
¢ D13 6200 8 0.995 6.17 4y | ——
G- D13 8510 4 0.995 8.47 34 | —
¢ 22 D13 11030 4 0995 1.0 4y | —
Go-3 D13 9470 4 0.995 9.42 38 | —
[FN D3 7680 2 0.995 764 15 | ——
G 3-2 D13 8830 2 0.995 8.19 | —
C3-3 D13 7450 2 0.995 7.4 15| —
Caa | D13 6290 2 0995 6.26 13 | ——
4y D13 8480 2 0.995 8.44 " |—
¢ D13 8800 2 0.995 8.76 g | ——
C4-3 D13 71540 2 0.995 7.50 05| —
Cou | D13 5500 2 0.995 5.47 | —-
345
U Di3 870 146 0.9905 0.866 300 RG]
d1 D13 1340 40 0.995 1.33 53 N (F95R)
353

N 4 1 2 B




%

4-1. HEMRER
4-2. BENR

il
il

§ 4. i ERE LT



§ 4. B R X T
A1 B RIER

gy
& FR T iy . iy a1l BT -
e | e W5
20mm & A 7 m | 16.33 16 ﬂﬂ%zgjiﬁ/“
A 22 1 AN AR o .
o Lz ¢ v H—IE
30mm% A 7 m 7.50 7 S N
B 7 U — b m3 | 1.064 1
&k i t 0. 095 0.1 D13
fifi .
i FIEAERT - A ATT 477 D13
%
& m  21.60 22 .
i — 7Y 88
% A 12 12 T
L THE KM
m 5.83 6 y Fss
L = — —
Jffﬁnl-sﬂgj 21§ ) ) = /%;[ﬁ]
SR A AL T EBh 6 6
Dl N/ 0 4.1 4




4-2 HENR

| O BT
Al
(1) At
L

HEAA

(2) MR 7)) —h

( fii

v o= ( 0279 + 0.279
(3) & M  (D13)

W = 0995 X 8832 X
(4) Bp=mT - (D13)

N = ( 8832  0.200
(5) —H IR

L = 1.800 X 4

N

s vl FH

L = 1416 X 2

N
(6) U HEAWLEE T

N =
(1) =V 7%

L = 0600 X 2

Vo= 1.200 X 0.020 X

HMEE 20mmZ A~ )

) X

4

) X

0.050

0.080 X 8.832
4
X 1000

8.832

0.394

35.2

177

7.200

2.832

1.200
1.200

m

3
m

kg

=]

=]



HBEAR

I.EEH
P1
(1) At
L

HEAA

(2) HERE 7)) —h

( fii

v o= ( 0279 + 0.279
(3) & M  (D13)

W = 0995 X 7500 X
(4) Bp=mT - (D13)

N = ( 7.500  0.200
(5) —H IR

— 5

L = 1.800 X 4

N

s vl FH

L = 0750 X 2

N
(6) U HEAWLEE T

N =
(1) =V 7%

L = ( 0.25 4+ 0.600

vV o= 1700 X 0.020 X

MaE 30mmZA~7 )

) X

4

) X

) X
0.050

0.080 X
4
2
X 1000

7.500

7.500

0.335

29.9

150

7.200

1.500

1.700
1.700

kg

=]

=]



HBEAR

I.EEH
A2
(1) At
L

HEAA

(2) MR 7)) —h

( fif

v o= ( 0279 + 0.279
(3) & M  (D13)

W = 0995 X 7500 X
(4) Bp=mT - (D13)

N = ( 7.500  0.200
(5) —H IR

L = 1.800 X 4

N

s vl FH

L = 0750 X 2

N
(6) U HEAWLEE T

N =
(1) =V 7%

L = 0600 X 2

V. o= 1.200 X 0.020 X

ME g 20mmZ A~ )

) X

4

) X

0.050

0.080 X
4
X 1000

7.500

7.500

0.335

29.9

150

7.200

1.500

1.200
1.200

kg

=]

=]



s

il
il

§ 5. f&mBhK T

b-1. HEAEHEE
5—2. MEHEBIK THCEFHE



§5. BmEBHK L
5-1. FriEia iR

4w T L N T W
HRET TAZ 7 v MEHEET. £=80mm m2 | 320.58 320
B MR mo 8239 82 oo 18
g L S L mo o 4L18 41 then S8 S
zﬁ YNE m2 | 320.58 320 BB R
fésE ik T EOKE m 83. 70 83 612
BRAE H MRS - S HUALERAA SRR om0 113.72 113




5-2. M mBh K THCEFH R &
gk T

HET
V&L Ak - 7 27 2 L NEEE = 80 mm
SEEEEE A = 223.00 + 97.58

X AR T

HIE SRR 16emifl F K JEES1. 5mm
17. 79+10. 42+28. 16+13. 01x2

I SRR 16emifl B K JE S 1. 5mm
20. 94+7. 23+13. 01

&imbh7K T

PikEmE (BER)
EREMOWK TE & 9

HKE (¢ 12) R
17. 79+10. 33+7. 39+15. 07+12. 83+7. 46+12. 83

R B #pf B Ui B AL A SE
17. 79+10. 42+8. 83+7. 50+28. 16+13. 01+7. 50+7. 50+13. 01

320. 58

82.39

41.18

320. 58

83.70

113.72




§6. PEKEET

6-1. FEiRfER
6-2. PEAEE TEEH A
6-3. S EEGEE



§ 6. PkEEE T
6-1 it i %

&
£ FR T i i ] B - i £
ey itk
BEAK SUS304 [ 6 6 B Em
¢ 150 R v VP m 17.29 17 FEOME ¢ 150
HEKE ¢ 150 = /L 7R 45° [E50 7 7
A A AT 2 2 150A
ISRV e o 518, 5mm
T AL g8 8 YE < 10mmBl F
?Tli\it‘? \/777‘_‘7\1{/1/ ]\}EH Sk T 4 N
HE S s — R AL = 12 12 /£822mm 14 X 60mm
7K
s A va m 1. 20 1
B
T Huft4 B t 0. 090 0.1 g A %
SR BRI/ N (T —Rr k) VN 12. 00 12 SS400 M12X 100
BT ARV b (&S b TRV B) N 6. 00 6 S10T M16X45
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6-3MMBMEHEE

(BA{51 : mm kg)

DEFIE AN

B M2 MiE ¥ @ kS BHuFs BERE=s E ME w EFR 5%
2 PL 100% 6 366 47.10 1.72 3 SS400
1 PL  100% 6 947 47.10 447 4/SS400
1 L 75% 75% 6 140 6.850 0.959 155400
6 BN M 16% 35 0.142 155400
2 TCB M 16% 40 0.191 1.S10T
ABTE 10 kg
DESFIE BEIE
B M2 MiE ¥ @ kS BHuFs BERE=s E ME w EFR 5 &
2 PL 100% 6 366 47.10 1.72 3 SS400
1 PL  100% 6 1069 47.10 5.04 5 SS400
1 L 75% 75% 6 140 6.850 0.959 1,S5400
6 BN M 16% 35 0.142 155400
2 TCB M 16% 45 0.199 1.S10T
B E 11 kg
DEFE CHrE
B M2 MiE ¥ @ kS BHuFs BEREs E ME M EFR 5 &
4 PL 100% 6 366 47.10 1.72 7 SS400
2 PL 100% 6 1052 47.10 4.95 10 SS400
2 L 75% 75% 6 140 6.850 0.959 2/ SS400
12 BN M 16% 35 0.142 2 SS400
4 TCB M 16% 45 0.199 1.S10T
CHRE 22 kg
DESFIE DEE
B M2 MiE ¥ @ RS BHuFs BEREs E ME w EFR 5 &
12 PL 100% 6 375 47.10 1.77 21 SS400
4 PL 100% 6 106 47.10 0.499 2 SS400
6 PL 100% 6 200 47.10 0.942 6 SS400
2 PL 100% 6 722 47.10 3.40 7 SS400
2 PL 100% 6 445 47.10 2.10 4/SS400
2 L 75% 75% 6 100 6.850 0.685 155400
32 BN M 16% 40 0.149 5 SS400
12 ANCB M 12 100,  0.8878  0.0888 155400
DEFE 47 kg
ILEFE 90 kg




(B - K)

S
18 # ' L
ANCB 55400 M 12 12 12
SS400 &t 12 12
ANCB #£5t 12 12
ToB s10T M 16% 45 6 6
|M 16% 40 2 2
S10T £&t 8 8
TCB it 8 8
BN 55400 [M 16% 40 32 32
|M 16% 35 24 24
55400 %3+ 56 56
BN #£5t 56 56
#E 76 76
BEFE1 IDEFE
(B3 : &)
R rE2
HiE B @  |Awm BIE cHim DI E wat
ANCB 55400 M 12 12 12
SS400 &t 12 12
ANCB 5t 12 12
ToB s10T [M 16% 45 2 4 6
|M 16% 40 2 2
S10T &t 2 2 4 8
TCB 5t 2 2 4 8
BN 55400 [M 16% 40 32 32
M 16% 35 6 6 12 24
55400 it 6 6 12 32 56
BN #£5t 6 6 12 32 56
#E 8 8 16 44 76
PBEFE1 IDEFE
P& RE2 AT
(BAT: &K
P& fE3
#iE H® |b7 @ @it
ToB s10T |M 16% 40 2 2
S10T &&t 2 2
TCB £t 2 2
BN |ss400 |M 16% 35 6 6
|ss400 g2+ 6 6
BN &£&t 6 6
#E 8 8
FEFE1 IDEFE
P& RE2 BHFE
(BAT: &K
P& =3
#iE ® |br @ @it
ToB s10T M 16% 45 2 2
S10T &&t 2 2
TCB £t 2 2
BN |ss400 |M 16% 35 6 6
|ss400 g2+ 6 6
BN &£:&t 6 6
#E 8 8
FEFE1 IDEFE
FEFE2 CHTmE
(BAT: &K
P& fE3
#iE H |br @ @it
ToB s10T M 16% 45 4 4
S10T &&t 4 4
TCB £t 4 4
BN |ss400 |M 16% 35 12 12
|ss400 g2+ 12 12
BN #£5t 12 12
#E 16 16
FEFE1 IDEFE
P& RE2 DHFE
(BAT: K)
P& fE3
#iE H® |b7 @ @3
ANCB 55400 M 12 12 12
SS400 &t 12 12
ANCB £&t 12 12
BN |ss400 |M 16% 40 32 32
|ss400 3t 32 32
BN #£5t 32 32
#Et 44 44




AR

(BA{3L :kg)
T
g M & iz &K HDZ35 HDZ50 WEt
PL $S400 6 72 72
SS400 &5t 72 72
PL &5t 72 72
L S$S400 | 75% 75% 6 5 5
S$S400 &5t 5 5
L &&t 5 5
ANCB $S400 M 12 1 1
SS400 &5t 1 i
ANCB &3t 1 1
TCB s10T M 16 3 3
S10T &5t 3 3
TCB 5t 3 3
BN SS400 M 16 9 9
SS400 &5t 9 9
BN &3t 9 9
#aE 13 77 90
H1 'HDZ35 |
(BA{3L :kg)
B2
#MiE ME 7 K DEFE #BE
ANCB $S400 M 12 1 1
SS400 &5t i i
ANCB &3t 1 1
TCB s10T M 16 3 3
S10T &5t 3 3
TCB 5t 3 3
BN SS400 M 16 9 9
SS400 &5t 9 9
BN &3t 9 9
#aE 13 13




BN &£t

o1 HDZ35
= DEFE
(BA{3L :kg)
BERE2
MiE ME K ABTE BETE CHrm DETE et
ANCB $S400 M 12 1 1
SS400 5t 1 1
ANCB &3t 1 1
TCB S10T M 16 1 1 1 3
S10T &5t 1 1 1 3
TCB &&t 1 1 1 3
BN SS400 M 16 1 1 2 5 9
SS400 E£5t 1 i 2 5 9
BN &3t 1 1 2 5 9
s 2 2 3 6 13
£ HDZ35
HER DEEE
f&=Z2 ABTE
(BA{3L :kg)
K]
#Mig ME 7 K #Et
TCB s10T M 16 1 1
S10T &5t 1 i
TCB &5t 1 1
BN S$S400 M 16 1 1
S$S400 &t 1 1
BN &5t 1 1
i 2 2
o1 HDZ35
= DEFE
FEfE2 BERE
(B4 - kg)
REFE3
#ig ® & 2 4K et
TCB s10T M 16 1 1
S10T &5t 1 1
TCB 5+ 1 i
BN SS400 M 16 1 1
SS400 &5t 1 i
1 1
2 2

43S
e A




o1 HDZ35
= DEFE
FEfE2 CHrE
(BAI - kg)
REFE3
#ig ® 8 RN #WEt
TCB s10T M 16 1 1
S10T &5t 1 1
TCB &5t 1 i
BN SS400 M 16 2 2
SS400 &5t 2 2
BN &3t 2 2
s 3 3
£ HDZ35
HER DEEE
f&=E2 DERmE
(BA{3L :kg)
K]
#Mig ME 7 K #Et
ANCB $S400 M 12 1 1
SS400 &5t 1 i
ANCB &3t 1 1
BN S$S400 M 16 5 5
S$S400 &5t 5 5
BN &5t 5 5
i 6 6
H4M 'HDZ50 |
(BAI - kg)
RERE1
#ig B 2 4K DEFE BF
PL $S400 6 72 72
S$S400 &t 72 72
PL &5t 72 72
L SS400 | 75% 75% 6 5 5
SS400 &5t 5 5
L &5t 5 5
s 77 77




o1 HDZ50
EEN DEFE
(BA{3L :kg)
BERE2
#Mig #E 2 &K ABRE BHF CHrm DHF WEt
PL $S400 6 7 8 17 40 72
SS400 &5t 7 8 17 40 72
PL 55t 7 8 17 40 72
L SS400 | 75% 75% 6 1 1 2 1 5
S$S400 &t 1 1 2 1 5
L &&t 1 1 2 1 5
#E 8 9 19 41 77
a1 HDZ50
EEN DEFE
FEfE2 AR E
(BA{RL - kg)
E=R]
iz = 2 K HEt
PL $S400 6 7 7
S$S400 &t 7 7
PL 55t 7 7
L SS400 | 75% 75% 6 1 1
SS400 &5t 1 1
L &5t 1 1
HaET 8 8
£ HDZ50
P& DEFE
P E2 BEFTE
(BA{3L :kg)
BEE3
iE M E iR WEt
PL $S400 6 8 8
SS400 &5t 8 8
PL &5t 8 8
L SS400 | 75% 75% 6 1 1
S$S400 &t 1 1
L &&t 1 1
#E 9 9




o1 HDZ50
EEN DEFE
FEfE2 CHrE
(BA{RL - kg)
REFE3
Mz = RN HEt
PL $S400 6 17 17
S$S400 &5t 17 17
PL 55t 17 17
L SS400 | 75% 75% 6 2 2
SS400 &5t 2 2
L &5t 2 2
ot 19 19
£ HDZ50
N DEFE
P =E2 DEFE
(BA{3L :kg)
BEE3
*iE M E iR WEt
PL $S400 6 40 40
SS400 &5t 40 40
PL &5t 40 40
L S$S400 | 75% 75% 6 1 1
S$S400 &t 1 1
L &&t 1 1
#E 41 41
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7-2. B MU 2. TR B AR E

. BET
B At % B
YR A T R A A fERICRE v I = 42.500 m
TEA AN T P RERICRR T L I = 42,551 m
LR TS
(12N -Y)
& & # 4 B B B B B X% BES # B & k1
1 TEHER 3990.0 3 4.925 19.65 59.0 A6061S-T6 170x85x3.5
2 TEBREZ 3990.0 3 3.394 13.54 40. 6 A6061S-T6 99x69x4
3 X8 6 10.02 60.1 ACTAM Y
4 FERY—TJ 340.0 3 4.667 1.59 4.8 A6061S-T6
5 TBAY-—TJ 300.0 3 3.1956 0.96 2.9 A6061S-T6
6 RALL—JLA 1940.0 6 1.145 2.22 13.3 A6063S-TH 70x32
1 RrLL—B 1880.0 6 0.461 0.87 5.2 A6063S-TH 57x3
8 RALL—LC 1940.0 6 0.929 1.80 10.8 A6063S-TH 70x32
9 NFRE— 421.0 12 0.369 0.16 11.5 A6063S-TH 30x12
10 RELY—F 30.0 24 1.171 0.04 1.0 A6063S-TH L-47x40
11 BARIL b M16x35 12 0.11 1.3 A2-70 SUS W1, Swi1
12 " M12x30 12 0.05 0.6 A2-70 SUS W1, 8w
13 KARL M16x50 12 0.17 2.0 A2-50 SUS N1, W1, SW1
14 " M16x70 12 0.20 2.4 A2-50 SUS N1, W1, SW1
15 " M10x40 12 0.06 0.7 A2-50 SUS N1, W2, SW1
16 TFERFERARIL b M5x16 24 0.004 0.1 SUS W1, SwWi1
117 BREVEVRY (28) M4x20 288 0.002 0.6 SUS
18 FSRBVEVRY M4x16 48 0.002 0.1 SUS
19 TYvh—®RILE M20x300 12 0.89 10.7 SCM435 N3, ¢ 44W1, SW1
20 " M20x220 12 0.68 8.2 BERS4. 6L LF N1, ¢ 4401, SW1
21 Fvh—FL—¢F t=12 6 1.88 11.3 $S400 100x200x12
BES 247.2|Kg/12M
[EW] 20.6|Kg/M (&R <)
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£ FR FE - iR BT T S ES
MYy (RFERESGETe) +HEER 5 93 97 94 Hig=1. 5m
. D+ — RED (1) mn : AKB BT
=, o MYy (MERGET) +alEER K& =1. 5m
FI:IX: f% D /I\:It:l}if 6%@ +:‘/\__ ]‘31%@ (2) m2 21 40 21 Pl*é}ﬂﬂ]ﬁﬁ
B g o #HiE <1.5m
B RGHHIEARED +>— FEY | m2 21. 40 21 S
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HiE =1. 5m, AFGEH

(12. 06+11. 91) x2. 00x1/2 23.97 m2

0 e (TEBRGET) HEkiR) +>— MRY (3)
Himi=1. bm, PUAGRAIA

10. 70x2. 00 21.40 m2

Y RGEIEHRIED +— FED
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10. 70x2. 00 21.40 m2




